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QUESTION 1

Click the Exhibit button.

Relationships

T e e [0 'S .
|- Craate X - Edfit x Delets :t'—% Operstions '-.'_2_, Refresh

L# T L

Source Storage Virtual... T | Source Volume ¥ | Destination Vol... T |Destination Storag,. T

snap_src mirror_msa mirror_me_dest snap_src

Source Location snap_src1:mirror_me Is Hzalthy: ®Yes
Destination Location: snap_src1_mirror_me_dest Relstionship State: Uninitialized
Soudrce Cluster clustert Network Compressior Mot Applicable
Destination Cluster:  clusterd Ratio:

Transfer Schedule:  Mone
Da:a Transfer Rate:  Unlimited
Lag Time: Mone

Details Policy Details Snapshot Copies

Your customer wants to protect a volume and replicate it to a secondary volume. The customer has tried to configure
this relationship using OnCommand System Manager. Upon reviewing this newly configured relationship, you discover
that the configuration does not satisfy the customer\\'s stated requirements.

Referring to the exhibit, what should you do to ensure that the volume is protected?

A. Delete the relationship and recreate it.

B. Resynchronize the relationship.

C. Initialize the relationship.

D. Change the schedule to hourly.

Correct Answer: A

QUESTION 2

A client has a primary data center that islocated in a coastal area where the forecast is calling for a Category 5
hurricane to make landfall in three days. The client\\'s data is protected using NetApp SVM SnapMirror replication
technology with identity-preserve that is enabled. The data is mirrored to a destination cluster outside of the affected
area. The client has scheduled a controlled maintenance window for tomorrow to ensure that dependable operations are
maintained.
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Which three steps must be taken to accomplish this task? (Choose three.)

A. You must break the SnapMirror relationship on each individual volume between the source and the destination
clusters.

B. You must configure the destination SVM volumes for data access.

C. You must reboot each server in your infrastructure so that they can access the data from the destination volumes.
D. You must break the SnapMirror relationship between the source and the destination SVMs.

E. You must stop the source SVM before activating the destination SVM.

Correct Answer: BDE

QUESTION 3

Which OnCommand Workflow Automation (WFA) feature allows users to download prebuilt WFA packs?
A. the Administration Portal

B. the Utility Toolchest

C. the Storage Automation Store

D. the Designer Portal

Correct Answer: C

QUESTION 4

A company has implemented a MetroCluster cluster. The company wants to use MetroCluster TieBreaker to monitor
and detect failures of the cluster.

In this situation, which three components are monitored? (Choose three.)
A. nodes through localnode interfaces

B. FC connectivity of the ATTO bridges

C. FC connectivity of the fabric switches

D. the cluster, through cluster designated interfaces

E. the surviving cluster

Correct Answer: ADE

QUESTION 5

After manually implementing aSnapVault relationship between two volumes on two separate clusters, the primary
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Snapshot copies are working fine. The baseline has been transferred successfully. The relationship is shown as healthy
and idle.

However, the updates are not taking place as scheduled on the secondary system. What is causing the problem?
A. The Snapshot copy label has not been set correctly in the used SnapMirror policy.

B. The SnapMirror policy schedule has not been enabled.

C. The SnapMirror access has not been configured.

D. The cluster peering has not been set properly.

Correct Answer: A

QUESTION 6

Using SnapCenter 4.0, you are restoring a virtual machine. Which additional tool would be used to monitor the restore?
A. VMware vSphere Web client

B. Virtual Storage Console

C. OnCommand System Manager

D. OnCommand Unified Manager

Correct Answer: A

QUESTION 7

You are asked to verify that data stored in your disaster recovery site can be restored and is viable. Currently, you have
a NetApp SnapMirror relationship with a MirrorAllISnaps policy type that is enabled and is updating frequently.

What would be a nondisruptive method to carry out a detailed validation of your disaster- recovery strategy?
A. Use SyncMirror on the destination aggregate on the destination cluster, and validate the data.

B. Perform a SnapMirror reverse resynchronization to restore the data from the destination cluster to the source cluster,
and validate the data.

C. Break the SnapMirrorrelationship and validate the data.
D. Create a FlexClone volume of the destination volume on the destination cluster, and validate the data.

Correct Answer: B

QUESTION 8

Click the Exhibit button.
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Vserver Name: svm_sanluns(01
Volume Name: vol sanlunsOldev 01
Aggregate Name: aff 01 aggril
Volume Size: 100Gb
Volume State: online
Volume Style: flex
Available Size: 1000.0GB
Total User—Visible Size: 1000GB
Used Size: 2.00MB
Used Percentage: 0%
Volume Nearly Full Threshold Percent: 95%
Volume Full Threshold Percent: 98%
Maximum Autosize: 1.17TB
Minimum Autosize: 1000GB
Autosize Grow Threshold Percentage: 95%
AZutosize Shrink Threshols Percentage: 50%
Autosize Mode: true
Space Gudardnles in Effecl: trus
Space SLO in Effect: true
Space S5LO: none
Space Guarantee Style: none
Fractional Reserve: 100%
Snapshot Resserve Used: 0%
Snapshct Policy: none
Node name: aff-01

Referring to the exhibit, whichsetting specifies the point that the vol_sanluns0ldev_01 volume will increase in size?
A. Volume Nearly Full Threshold Percent

B. Space Guarantee in Effect

C. Autosize Grow Threshold Percentage

D. Fractional Reserve

Correct Answer: C

QUESTION 9

You want to determine the amount of cold data that can be tiered from a FabricPool- enabled aggregate. In this
scenario, which feature satisfies this requirement?

A. Inactive Data Reporting

B. Information Lifecycle Management
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C. Object Store Profiler
D. Auto Balance

Correct Answer: A

QUESTION 10

Click the Exhibit button.

You have a SnapProtect v11 environment as shown in the exhibit. What are the two defaultSnapshot copies created
automatically after creating a Storage Policy.

(Choose two.)

A. Primary (Tape)
B. Primary (Classic)
C. Primary (NetApp)
D. primary (Snap)

Correct Answer: BD

QUESTION 11

On a Windows host, you want to make a consistent database backup of a physical SQL server where the database is
on iSCSI-connected LUNs on aclustered Data ONTAP system.
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In addition to SnapDrive for Windows, which three NetApp software products should be installed to satisfy this
requirement?

(Choose three.)

A. Microsoft iSCSI Software Initiator

B. On Command Workflow Automation
C. On Command Unified Manager

D. iSCSI Host Utilities

E. Snap Manager for SQL

Correct Answer: ADE

QUESTION 12

You must back up and replicate a Microsoft SQL server using SnapProtect in your clustered Data ONTAP
environment. Which three components must be correctly installed and configured?

(Choose three.)

A. SnapDrive for Windows

B. On Command Workflow Automation

C. On Command Unified Manager 6.0

D. SnapProtect v10

E. SnapProtectiDataAgent

Correct Answer: BCE

QUESTION 13

An administrator notices that a NAS volume has been filled completely by active data and Snapshot copies that have
expanded over the Snap reserve. The volume is no longer writable.

In this scenario, which two actions must you take to make the volume writable again? (Choose two.)
A. Delete Snapshot copies until space is available.

B. Delete the files in the active file system.

C. Delete the SnapMirror relationships.

D. Delete the SnapVault relationships.

Correct Answer: AD
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QUESTION 14

You want to configurea SnapMirror transfer throttle to consume less network bandwidth. In the output of the snapmirror
show command, which three statistics would you use?

(Choose three.)

Response:

A. Last Transfer Type

B. Last Transfer Size

C. Total Transfer Time inSeconds
D. Last Transfer Error

E. Last Transfer Duration

Correct Answer: BCD

QUESTION 15

You are deploying a mission-critical business application for a healthcare customer that, according to government
policies and regulations, requires zero data loss.

In this scenario, which NetApp solution enables you to set up data replication at a volume level to satisfy your business
needs?

A. MetroCluster

B. SnapMirror-Synchronous
C. SnapShot Copies

D. SyncMirror

Correct Answer: B
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